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Problem 1 [ /12 marks ]

A curve C is defined implicitly by the equation esin(y)= sin(x)+ y2.

(a) Find the equation of the tangent to C at the point P where y=0 and 0<x<�.

(b) Find the equation of the normal to C at the point P.

(c) Find the second derivative at the point P.

(d) The image below shows a part of C
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Show the point P on the same picture, and the two lines (the tangent and the normal at C).

(e) Show that the curve in �concave-up� at P
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Problem 2 [ /4 marks ]

Problem 3 [ /7 marks ]
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